ol

02)

03)

04)

05)

a)

b)

g)

h)

State the merits and demerits of international business.

ASSIGNMENT-1

M.Com. DEGREE EXAMINATION, JUNE/JULY - 2020

(Second Year)
INTERNATIONAL BUSINESS

Maximum : 30 MARKS
Answer ALL Questions

Process of International Trade.
@OBTHAL DT PEAD.

Unfair Trade Practices.
@00 JTE AT .

Strategic Management.
Q?gﬁé&§ 5065308’3.

Corporate Control.
8865 dasosen.

Business Negotiations.
5°E BOEE0DRO.

IBRD.
IBRD.

GATT.
GATT.

Multilateral Agreements.
TS edyorren.

@OBTHOL TS I Lo DT80,

Describe about structure of strategic management.
Q?gﬁé&§ 3653"8'5" 36&@3 sﬁgooﬁ);ﬁw.

Discuss about control systems in MNCs.
MNCoé® doso@er Faross K8y $8y0mD.

Write a note on negotiations in international business.
@oBTHAH T Eos” BOVQ0DO TFIP @080
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Q1) Bringout the measures to be taken for regional trade cooperation.

FroBab B8 DSOS M50 DVEDONS B5ot DT80

02) Critically examine the Ricardian Theory of international trade.

OSBANS HFATOS SOBTHAD SYE DIToTY DI TN IS0,

03) Write about strategic considerations of MNCs.

MNCo Goosy 5753558, 8 500> 15°0) @105,

04) Explain about importance of international logistics.

@OBTAAL TEREo @PrErEgits DB0oB0.
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03)
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05)
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a) IRM.
IRM.

b) System development life cycle.
R0 GIoDR0eS BB BED00.

c) RDBMS.
RDBMS.

d) Queries.
50R.

e) LAN.
LAN.

f) Internet.
OBTTOO.

g) Software.
>R6.

h) High level language.
3 B8 rones.

State the objectives of Information Resource Management.
30050 06y oeiRooes G308 PFgoiTress Beoyino.

Write in detail about implementation of system development projects.
DR BHeDR0) PEE FOVBO0EIDEH K0y DHGOT [EPAK0HL.

Discuss about designing of distributed environment.
G QTG IO SR0LS ST K0y H98y0800.

Define Hardware. State the uses of hardware devices.
5863655 500N, TEIE 05T Book) &BATTTER DT80,
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Q1) Give an overview on data communication concepts.

Ce BRTEIESS rRdess 11770y OB

02) Write about organising data in RDBMS.

areDE Ger es@3eohto K0y EPAHOD0.

03) What are the stages in implementation of DBMS?

DBMS 50330083588 o 55822

04) Describe about future scenario of DBMS.

sread) o0k £ HB $QOB00,

\, 4
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\, 4
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M.Com. DEGREE EXAMINATIONS, JUNE/JULY - 2020

(Second Year)
Accounting: Advanced Financial Accounting

Maximum : 30 MARKS
Answer ALL Questions

Q1) a) Objectives of Financial Accounting
D HeasT0 (w°0e3oh) oFp 5o

b)  Profitability Ratio’s
SPEITPO0ED) ?J:Qe‘égem

c)  Minority Interest
SONNCEN WL SRR

d)  Social Balance Sheet
TPOE €5 o B¢

e) Factors influencing the Value of Goodwill
KOEISL (KerABH0 Do ©oF°eD

f)  Annuity Method
ReERN L)

g) External Reconstruction
airge‘é DS Doy eassod

h) Advantages of HRA
HRA S@resores

02) Describe the Role of financial advisor in a business.
TS H0RE” e0Y DO G0k B0 HYo0,

03) What is financial statement analysis? Briefly explain its advantages and disadvantages?
08 JB050 Fer WHTTRI? TR G0k, PATeTes 0ae Sareis DHBoBod?

04) From the following calculate the value of goodwill at 3 years purchase of super profits.
1) Average capital employed in business Rs.6,00,000
il) Net trading profit of the firm for the past. 3 years Rs.1,07,600, Rs.90,700 and
Rs.1,25,500.
ii) Rate of return expected on capital invested 12%
iv) Fair remuneration to the partners for their services Rs.12,000 per annum.



v) Sundry assets of the firm Rs.7,54,762, curret liabilities Rs.31,329.
AN JoPw K800 OBGRE TEred DT SO0 Fofen egrdor HEIS DOTOFOEI[00

Ja%os.

D) Tgrood’ &) Hites Saress 57.6,00,000.
i) 113 3 o8’ voy Gy, A5G egn s 6.1,07,600 ¢.90,700 w00

5.1.25.500.
i) SoTee e eBodd grgio Bew 12%.
iv) grridge D908 DoB FOTHESH BoHEyTIS 87.12,000.

V) S0 G300, TPrTes e300 oo 8°.7,54,762. (N8 edyen 85°.31,329.

05) The following are the balance sheets of ABC Ltd. and XYZ Ltd. as on 31-12-2017.
Balance Sheet
Liabilities ABC Ltd.XYZ Ltd. Assets ABC Ltd. XYZ L.td.
Share capital Fixed Assets 1,95,000 70,000
(Share@10 each)2,00,00050,000
General Reserve50,00020,000 Investments:
Shares in XYZ Ltd. 60,000 —

P& L A/c Balance Debtors 35,00025,000
(1-1-17) 30,000 7,500
Profit for the Year Other Current
(2017) 50,000 20,000 Assets 60,000 12,500
Creditors 20,000 10,000

3,50,000 1,07,500 3,50,000 1,07,500

Additional Information:

1) ABC Ltd. purchased on 1/7/2017, 4000 shares in XYZ Ltd. at Rs.15 each.

i1) Stock in XYZ Ltd. Includes Rs.7,500 worth of goods purchased from ABC Ltd. Which
company sells goods at 25% above cost.

iii) Creditors of XYZ Ltd. include Rs.5,000 due to ABC Ltd. prepare a consolidated
balance sheet as on 31/12/2017.

31/12/2017 3¢5 ABC dEE 50000 XYZ @086 770 53 e9dy0 563 (Bod Gore esmmyoo.

55700 ABC O.XYZ 9. esooo_ ABC ®. XYZO.
TP 0TI 7?86 523000 1,95,000 70,000
(7°e>rd 57°.10) 2,00,00050,000

erSes Oesdog 50,000 20,000 DEREL;

TS PTIg XYZ ©.8°

(1/1/2017) 30,000 7,500 PO 60,000 -



2017 $0.8 orgio 50,000 20,000 2083((I9e035,000 25,000

2200833°50 20,000 10,000 3JBC (BB
53000 60,000 12,500
3,50,000 1,07,500 3,50,000 1,07,500

IS DITPTEH0;

i) 1/7/20175 ABC &208& 76> XYZ d08E 70 4000 Teroiy arer 18 15 8. Tdypd
o e DSo.

i) XYZ d08E 565058 677,500 deosiio H5t05% ABC dEE H00d Sofiee T &bd.
©535500 20 25% CPEIE0 BOTFAOBEKA.

iii) ABC 28& axoesrdod” 855,000 XYZ dBE H500d 0750d &5d. 2 oo egroom
31/12/2017 o°¢3 bé%e‘é €555 :aeé SOSTE> DA,
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Define valuation of share? Explain its need and impact of earnings and growth on

valuation of share?
Ter 000D GDoT0GE? ) eHEES 00y egs Wodhy G5B oY, Eerso T

m&o@;’.i DT 008 DHDOBH0 9

Explain about the following:
a) Cost of Goodwill
b) Fair Value Method

c) Fundamental Analysis of Valuation of Share
Bod 773 K000 SBoHR00.

a) TO&EIS B5abB
b) CI0E08 $5EB (t50css)
C) T $Q0 @RS DI

Following Information relates to Sri Ram & Co. Prepare Balance Sheet as on 31st March,
2015.

1) Current Ratio - 2.5

il)  Liquid Ratio - 1.5

iii))  Networking Capital - Rs. 3,00,000

iv)  Cost of Sales/Closing Stock - 8 times

v)  Gross Profit Ratio - 20%

vi)  Average Debt Collection Period - 1.5 months

vii) Fixed Assets/Shareholders Networth - 0.75

viii) Reserves & Surplus / Share Capital - 0.50

oS0 w0k &, $0e0800kS Bod PSTTEoS 31 570y, 2015 T el eiiyo 96 BAS> Babod.
) E0s IR - 2.5

) g B - 1.5

1) A5G ATgrres JoTe¢o - §°.3,00,000

V) e 0o Spotses / Hafoid KO - 8 Bex

V) STo o OG- 20%



04)

Vi) e 53500 o0 - 1.5 Joen
Vi) QORYe0/ TErmrie J58 Do - 0.75
viii)  Bes8ogeo So0a50 Qe / F37¢r SoFoE&0 ~ 0.50

Following are the particulars of XYZ Ltd.

Equity shres of Rs.10 each Rs. 4,00,000
5% Debentures Rs. 1,00,000
Current liabilities Rs. 1,30,000
Current assets Rs. 2,00,000
Fixed Assets Rs. 5,50,000
Goodwill Rs. 50,000

The Profit for the last 3 years were 65,000, Rs.70,000 and 50,000 respectively. 20% is
transfered to Reserve. Normal rate of return is 10%. Compute the value of shares under. (i)
Net assets method, ii) Yield method.

XYZ dWBE G308, DHTP 2o Desore &T™000.
éa%cse\% eTe0 28753 810 TS &5°.4,00,000
5% CZOUBE &3°.1,00,000
PRV ey &5°.1,30,000
(P98 €800 &5°.2,00,000
?gof’@@o &5°.5,50,000
HEIS &3°.50,000

NS 3 0.0 rgio HER 83°.65,000, §3°.70,000 0000 83°.50,000. 02385 20% &0

500D, e Tl BEd 10 T, TeTo Deosido 1) ST et 558 i)

o°23Ce BB G5O B8 0500.
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Define Cost Accounting. Give its functions

R @T0edohds AN, TR B DEooss DHOoBL.

What are the essentials of good costing system.

5000 57000 DTS GoSORD $o0gdy eSS0 2

Explain the concepts of budget and budgetory control

20365 500050 255 Ao grEPety HSOoUNG.

Learning Curve Analysis

SN BHBIn HE D $rdod Sgrdo.

Direct Costing

(58555 O

Marginal Cost

530S 5500

Fixed Budget

D 2a3es
® £

Limitations of Cost Accounting

R @ oedoh ook oD



02) Explain the scope and functions of Cost Accounting.
5505 @F0edoh H0G, DEowis DBIBoSOG.

03) Write about different types of cost reports.
DG T5°0 H500 IR 100D @Ak

04) From the following particulars you are required to prepare a cost sheet of the year ending

31-12-2017.

Stock of finished goods 31-12-2016 1,45,600
Stock of raw materials on 31-12-2016 66,560
Purchase of raw materials 15,18,400
Wages 10,33,760
Sales 30,78,400
Stock of finished goods on 31-12-2017 1,56,000
Stock of raw materials on 31-12-2017 70,720
Works overhead charges 2,58,440

Office overheads 1,40,322

The company is intending to send a quotation for a large plant. The estimated material cost
is 1,04,000 and wages 62,400. The quotation is to make a profit of 20% on selling price.
Show the amount of quotation price.

BIVD NS DBEB00 Bo0d J5ah IBOESS 31-12-2017 & @oBKg SIS SOTEH

o008,

31-12-20168 e‘éoﬁ@é QOB o 1,45,600
31-12-2016 300G :awcg@ O 66,560
5006 Sogre Jog 15,18,400
ST 10,33,760
92395700 30,78,400
31-12-20173 e‘éoﬁ@é QOB o 1,56,000
31-12-20175 5006 o“ac5°oQ°® O 70,720
358),) 985D ptioyed 2,58,440
D50 B85 PN 1,40,322

28 D¢ Troen §EH 500 30580 HoREOVSE). LI0EE GOST 0 $ad DS 550500
1,04,000 500050 IBT°e0 62,400, 5350 D05 20%  TEH0 Hodk PV Eoksd ¢
Dgosaolods.

05) Prepare a flexible budget for production of 80% and 100% activity on the basis of

following information.

Production at 50% capacity 5000
Raw materials 80 per unit



Direct Labour 50 per unit

Direct expenses 50,000 (50% fixed)
Administration expenses 80,000 (80% variable)
S8 B0 ey SV 0 OO 80% 0050 100% 5 ea?gd 23@95 SATTEIRATI[N.
50% TPR0ggH00 9 GEE 5000
& Q

20083 BB TS 25038 5,80

BS5% IBren alorde) 538 8>.50

(555, B0 &5°.50,000 (50% ?86;333)
ST PBRHD &5°.80,000 (80% @?gdsﬁw)
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Q1) A manufacturing company has three production departments A, B, C and two service

02)

departments X and Y. Overhead allocated to these departments is as follows:

Production Departments Service Departments
A = Rs.15,000 X =Rs.3,000

B =Rs.27,000 Y = Rs.5,000

C =Rs.19,000

The percentage of distribution of cost of each service department is given below on the
basis of man hours worked.

Dept. A B C X Y
X 45% 15% 30% — 10%
Y 60% 35% — 5% —

Distribute the cost of service departments under repeated distribution method.
&5 GTESS So8 Sordd ©, &3, § @t GBS JgTTren $odabe Bot A, e T Jgrrres

50, o8 Deorr HTE SAiTes SeronoBRdsd.

8 Derrred DT DeTreed
A = &.15,000 X = &5.3,000
B = s5.27,000 Y = &>.5,000
C-= 83°.19,000

20 DI eIt PEND ($08 FrTHO SETEOMT VTS H0e3 5GHE" So2e3 Donod.

DTS00 A B C X Y
X 45%  15%  30% - 10%
Y 60%  35% = — 5% -

From the information given below, calculate:
a) Efficiency Variance
b) Volume Variance
c) Capacity Variance
d) Calendar Variance
Budget Actual
No. of working days 22 24



03)

04)

Standard man hours 4,200 4,400

per day

Total Output in Units 1,10,880 1,40,880
Standard Overhead

Rate per man hour 10 Paise 10 Paise

&3 ($ob DIrTrdsm Sood Bodok.
2) SDESD DSSeH3

b) 25055 DISEIt00

¢) FBogsd DSTe0

d) =806 D5Serso

20Ged TPIHB00
D B0 22 24
PTre3s (3550 Hoten 8 e 4,200 4,400
30080 &S rdeS”
[FA0E KoL (PRI°e3y 1,10,880 1,40,880
£.562& Sew 10 200 10 200

Write about different kinds of cost control techniques.
DG T5°0 T JToEEs HTos 170y DH0oWBC.

Define cost reporting. Enumerate the concept, objective and types of cost reporting.
5500 BDGORo DBV, H50th BGOR PS5, SN SoBOK SO DIBOI.
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Person.
358,

Non-Resident.
Non-R

Commutation of Pension.
255 BAcD

Capital Gains.

SOTOES SPeIR0.

Deduction 80GGB.
80JJes 8005 SAOD.

Hindu Undivided Family.
SO 9T o020

Appeals.
@oao)o;fo%).

Association of persons.
@@6?\)@3\5 QB:) 536‘35‘3.

DCM25

Define Agricultural Income. Explain the Income Tax provisions of Agricultural Income.
SgITOD  eSTrairdy  ASEOBOG.  JgITra  erairdS Ho20R0l8  emrad B3y

Q2208350385 DSBS,

What do you mean by Residential status? How the residence of is assesses determined for
Income Tax purposes? Explain.

TR HOVY OSTIW? STALD 38y TR0 iy @k, TR O o ATOTE0?
DSBS,



04) Raman, an employee of the Gas Supply Ltd., Agra, receives the following emoluments
during the previous year 2017-18.

Rs.
(per month)
Basic pay 40,000

Project allowance 2,800
Arrears of project allowance of May, 2017 250
Professional tax paid by the employer 200

Rent free furnished house
— Fair rent of the house 6,000
— Rent of furniture 1,500
Free gas supply 600
Service of sweeper 900
Services of gardener 1,000
Service of cook 1,800

Free lunch3,400

Free use of chauffeur driven Fiat car which is used partly for official and partly for private
purposes. He is a member of recognized provident fund to which he contributes Rs. 2,500.
His employer also contributes an equal amount. He deposits Rs. 2,000 per month in 10
year account under the Post Office Savings Bank.

o523, PSR MR $2 IWGEES agh. ess 18 Ko5EE0Y 2017-188 SowoQod &

800 J¢550 50B0K0 DETAITE0 TPOEIEITED. K
(per month)

$0TORBS0 40,000

25 83550 2,800

302017 7638 @S 50 wsPosw 250

Aes3T) BDoDS HyE B3 200

@) ©500yS BB KMy
- P30 C3008) &8 6,000
- 0% BRKD HONEG 1,500

&S g DOHO 600



05)

G5 D58 HIoDIE 900

S5 2358 DY 1,000
S0 S0 VI8 IYoDSO 1,800
&S Hleso 3,400

&DBOMT @0 SO 0B BR0CE @B SESETERT) Poides 760, BB H8oSIedES
By VR 5. 3 g5 APE e8> BDoDIB £.2,500. 3B CHWITA EPE 0B w08es”
300 220R0R. 3BEO IV Bokd B EPTPADES Tdyd S DO Do wB800G ﬁb;iim
Dohy ergoEE” wsy Jamhiso wdRod.

For the Assessment year 2018-19, the Gross Total Income of Mr. Chaturvedi, a resident
in India, was Rs. 8,18,240 which includes long-term capital gain of Rs. 2,45,000 and short
term capital gain of Rs. 58,000. The Gross Total Income also includes interest
income of Rs. 12,000 from savings bank deposits with banks. Mr. Chaturvedi has
invested in PPF Rs. 1,40,000 and also paid a medical insurance premium Rs. 31,000. Mr.
Chaturvedi also contributed Rs.50,000 to Public Charitable Trust eligible for deduction

under section 80G by way of an account payee cheque. Compute the total income and tax
thereon of Mr. Chaturvedi, who is 70 years old as on 31-3-2018.

2018-19 530 0O éogﬁe‘%o@% {,Se‘éoécs& Q308 bs(;e; S00B0o eTPAO 8.8,18,240. @850
OB0E JTR. B BT Boodo sTolo8 BYSIS HoreEs ogo @S £.2,45,000
INClelonsV é{g@g?@% JoPOES rgio @oS £.58,000 57 3006 e@z). 95 65‘@3@ 2080
ST OHoS” B> T 5ol PFEE” eSS SHEID IS Hek @000 £.12,000 EPE 5D
GO, 5@85& &éeés eI e £.1,40,000 300050 YoDS g D> SAoaho
£.31,000. SB000 &5 IT0eS How Iy, T DES 80 T SO wdiFos DA
T0eed (€:335 B3YoDBH £50,000. 31-3-2018 T°e3d 70 KOSBYT® Ko SO Boos),
08B0 eSTONTR) SO e IYOTIOS BnD BESoc.
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Q1) State the conditions which are essential to support a claim for exemption of income of
public charitable trust under Section 11 of the Income-tax Act, 1961.
SO B30y 9630 1961 WBoo%), DES 11 B0 D5 Troeend LR eTrdH sFonod

DO BSITRN HOPBoOS HE YOG

02) XYZ Ltd. furnishes the following particulars. Compute the total taxable income of the
company for the Assessment year 2018-19 (accounting year ended on March 31-2018).

Rs.
(in lakh)
1. Net income which includes penal
interest of Rs. 31,000 paid for delayed
payment of sales tax and interest of
Rs. 2 lakh paid on fixed deposits
from public subject to the following
adjustments : 31.34
* Depreciation which included
Rs. 0.50 lakh for guest house
building 1.65
* Unabsorbed depreciation of the
assessment year 2016-17 7.35

* Unabsorbed business loss brought
forward 24.48

2. Short-term capital gain on sale of shares (trade investment)  0.99

Long-term capital gain on sale of
equity shares on May 10, 2017
(computed u/s 48) 2.52

4. Brought forward short-term capital loss 0.45

5. Brought forward long-term capital loss
of the assessment year 2016-17 on
sale of shares 0.50



6. Gross interest from government
securities. 1.27

7. Bank commission, etc., for realizing
interest 0.07

XYZ 3086 & $obd 35rTOo g3go w0Mcd. 2018-19 3 ITTEd SoISETDS
(s 0edoh HoIBYBo 5770y 31-2018 T7e3d SoAVSA) 080 D) BDoBFNS eSOy
BEou0ct.

Rs.
(@é@éﬁ )
1 sdor 3QodS D HSn% wbsro e 390D £31,000
5ree e A58 esrraod” 0D &9, & $od Beperenen
520065 Peosood 9&E EFres D DodS 5¢ Rs.2 ofen.31.34

* AR TS 550 D &) 0.50 efo S 0D 1.65
* 2016-17 533 AFTed DeISH°AS SOIIAHBY S0 7.35
5000005 B9 S6O30BY TG S50 24.48

2. Tere eSpE0R BensrOs SuTrors orglo (relesy 26eE)0.99

3. 3510,20173 éeéogeg Tero wsySe SV OIS

Bo70ES oo (RFS 48 8o nedoiEI0N8) 2.52
4. 5300858 B0 30‘3)%):6 35%3"&% 0TOES :ég\o 0.45

5. 2016-17 5859 ITTes So5ETVE Tero eI Tod SV)S
BETOE H7065S SIEDy $00060% BB 236A0  0.50

6. [BENS 2ETBLIe S0 SO Bro $G 1.27

7. OAHBEOR 5¢ FE% ergo BB J00EBHD. 0.07

03) Describe briefly the procedures regarding collection and recovery of tax by the Income

Tax Authorities.
BOPONY) B WP %0 DEOODS SoBaw D30) BON Trarty 9eo%d Hoeohold BSBaoso S50

DSB0S0s.

04) Explain the provisions relating to revision of assessment order prejudicial to the interest
of assessee.
@?o?o() By, 8D exed U"éoﬁ)@;&ﬁo B000050  eRVF00E) B0, DBOELHE HooGoDS 0GOS

FUNIGIoERUIN VLN

* ¥ *



